
Průřezové charakteristiky
Vypočtěte průřezové charakteristiky zadaného průřezu:

1) Polohu těžiště

2) Momenty setrvačnosti 
k těžišťové ose

3) Moduly průřezu



Poloha těžiště:

𝑦𝑡 = 0 𝑐𝑚

𝑧𝑡 =
σ𝐴𝑖 ∙ 𝑧𝑖
σ𝐴𝑖

𝑧𝑡 =
100 ∙ 20 ∙ 65 + 25 ∙ 40 ∙ 35 + 60 ∙ 15 ∙ 7,5

100 ∙ 20 + 25 ∙ 40 + 60 ∙ 15
= 44 𝑐𝑚



Momenty setrvačnosti:

𝐼𝑦 =෍𝐼𝑦,𝑖 +෍𝐴𝑖 ∙ 𝑧𝑖
2

𝐼𝑧 =෍𝐼𝑧,𝑖 +෍𝐴𝑖 ∙ 𝑦𝑖
2



Momenty setrvačnosti:

𝐼𝑦 =෍𝐼𝑦,𝑖 +෍𝐴𝑖 ∙ 𝑧𝑖
2

𝐼𝑧 =෍𝐼𝑧,𝑖 +෍𝐴𝑖 ∙ 𝑦𝑖
2



Momenty setrvačnosti:

𝐼𝑦 =෍𝐼𝑦,𝑖 +෍𝐴𝑖 ∙ 𝑧𝑖
2

𝐼𝑧 =෍𝐼𝑧,𝑖 +෍𝐴𝑖 ∙ 𝑦𝑖
2

𝑰𝒚 =
1

12
∙ 100 ∙ 203 +

1

12
∙ 25 ∙ 403 +

1

12
∙ 60 ∙ 153 +

+100 ∙ 20 ∙ 65 − 44 2 + 25 ∙ 40 ∙ 44 − 35 2 + 60 ∙ 15
∙ 44 − 7,5 2 = 𝟐𝟑𝟕𝟖𝟗𝟎𝟎 𝒄𝒎𝟒

𝑰𝒛 =
1

12
∙ 20 ∙ 1003 +

1

12
∙ 40 ∙ 253 +

1

12
∙ 15 ∙ 603 +

+100 ∙ 20 ∙ 02 + 25 ∙ 40 ∙ 02 + 60 ∙ 15 ∙ 02 = 𝟏𝟗𝟖𝟖𝟕𝟓𝟎 𝒄𝒎𝟒



Moduly průřezu:

𝑊𝑦,ℎ =
𝐼𝑦
𝑧ℎ

𝑊𝑦,𝑑 =
𝐼𝑦
𝑧𝑑

𝑊𝑧,𝑙 =
𝐼𝑧
𝑦𝑙

𝑊𝑧,𝑝 =
𝐼𝑧
𝑦𝑝



Moduly průřezu:

𝑾𝒚,𝒉 =
𝐼𝑦
𝑧ℎ

=
2378900

75 − 44
= 𝟕𝟔𝟕𝟑𝟖, 𝟕 𝒄𝒎𝟑

𝑾𝒚,𝒅 =
𝐼𝑦
𝑧𝑑

=
2378900

44
= 𝟓𝟒𝟎𝟔𝟓, 𝟗 𝒄𝒎𝟑

𝑾𝒛,𝒍 =
𝐼𝑧
𝑦𝑙
=
1988750

50
= 𝟑𝟗𝟕𝟕𝟓 𝒄𝒎𝟑

𝑾𝒛,𝒑 =
𝐼𝑧
𝑦𝑝

=
1988750

50
= 𝟑𝟗𝟕𝟕𝟓 𝒄𝒎𝟑


